
A2

The temperature in London is ________ than in Madrid.

Answer: ___________________

Madrid is ________ than London.

Answer: ___________________

The weather in London is ________ the weather in Madrid.

Answer: ___________________

It is ________ in Madrid than in London.

Answer: ___________________

The summers in London are ________ than the summers in Madrid.

Answer: ___________________

Madrid has ________ winters compared to London.

Answer: ___________________

The rainfall in Madrid is ________ that in London.

Answer: ___________________

London is ________ sunnier than Madrid.

Answer: ___________________

The wind in Madrid is ________ in London.

Answer: ___________________

Madrid has ________ days of sunshine than London.

Answer: ___________________



Answers

The temperature in London is ________ than in Madrid.

Answer: cooler

Madrid is ________ than London.

Answer: warmer

The weather in London is ________ the weather in Madrid.

Answer: different from

It is ________ in Madrid than in London.

Answer: hotter

The summers in London are ________ than the summers in Madrid.

Answer: milder

Madrid has ________ winters compared to London.

Answer: milder

The rainfall in Madrid is ________ that in London.

Answer: less than

London is ________ sunnier than Madrid.

Answer: more

The wind in Madrid is ________ in London.

Answer: stronger

Madrid has ________ days of sunshine than London.

Answer: more


